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1— (1) . B/ EEHR (BH)

\um‘z%\ T S PN i % AR # O |a K £/ S
BB P& [N AL S NI S
# 5t 31,389 [ 1,054,950 FIHR |[@I 2,649 65,495

IR 21 1,220 JAV3 1 20
(FFR) 12 900 (FFK) 0 0
(J\’*”) 3 150 (R7) 0 0
i) 5 150 i) 0 0
(/N’F”) 1 20 GRSty 1 20
rovo 16,794 843,940 rovy 1,092 49,960
(R R) 6,409 448,630 (FFK) 334 23,380
(R 6,728 336,400 (R7) 337 16,850
(-5H) 1,117 33,510 (- 5m) 276 8,280
(/N 2,540 25,400 (/]VE) 145 1,450
E-J:= 1 13,562 113,905 RRE 1,519 11,445
(3 - /N 9,219 92,190 (-3 /)N ) 770 7,700
(48 U i) 4,343 21,715 (HE& DY i) 749 3,745
Z0fth 1,012 95,885 ZOfth 37 4,070
(4&h797) 147 735 (#&h7v7) 0 0
(b7 - h—=7-) 865 95,150 (b797 - P—7-) 37 4,070
RIGR |[E&EFR 13,535 474,605 RiFR [LLEAB 1,110 29,105
IR 6 380 AV 3 0 0
(FFR) 4 300 (FFR) 0 0
(jt’*”) 1 50 (KA) 0 0
i) 1 30 (35m) 0 0

( J\’*”) 0 0 (/]VY) 0 0
rovY 7.457 346,050 %7 545 25,090
(FFR) 1,998 139,860 (FFR) 39 2,730
(KAY) 3,631 181,550 TN 391 19,550
(3%i8) 318 9,540 Wr3) 83 2,490
(/N 1,510 15,100 (/]NED) 32 320
M= 5,292 47,730 FER®E 544 3,910
(-5 + /M) 4,254 42,540 (3388 - /) 238 2,380
(82 D0 %) 1,038 5,190 (2 10 %) 306 1,530
Z0fth 780 80,445 ZD 1t 21 105
(V2D 51 255 (#8h7v7) 21 105
(b7 - M—=7-) 729 80,190 (b797«b—=7-) 0 0
RIGR [(H/# 8,607 267,370 RIFR (&2 5,488 218,375
NR 11 665 AV 3 3 155
(FFR) 7 525 (FFR) 1 75
(jt’*”) 1 50 (KA 1 50
i) 3 90 (3-388) 1 30
(/J\’*'J) 0 0 (/) 0 0
rowy 3,990 227,120 rovo 3,710 195,720
(5:K) 2,694 188,580 (F5K) 1,344 94,080
(KAL) 472 23,600 (KA 1,897 94,850
(i) 335 10,050 (388) 105 3,150
(/INRY) 489 4,890 (/1N 364 3,640
A= 4,505 35,405 FERE 1,702 15,415
(i -/ Vi) 2,576 25,760 (388 - /) 1,381 13,810
(42 D0 %) 1,929 9,645 (2 D0 %) 321 1,605
Z 0t 101 4,180 ZTDth 73 7,085
(#877) 66 330 (#17v7) 9 45
(b9 b=7-) 35 3,850 (b9 +b=7-) 64 7,040
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LBE_ o om [aom ®H i w om v om|l® R
ALETIL] ¥ L K BT W v K
# 5t 27,399 | 1,002,225 RBR (| 1,865 52,090

INR 30 1,580 IR 0 0
(FFR) 12 900 (FFK) 0 0
(J\’*”) 7 350 (R7Y) 0 0
i) 11 330 (- im) 0 0
(/J\”F”) 0 0 (VA 0 0
rovo 15,867 826,650 rowo 877 41,870
(R R) 6,382 446,740 (FFK) 329 23,030
(RAY) 6,552 327,600 (R7) 238 11,900
(-55) 1,149 34,470 (5 3m) 192 5,760
(/N 1,784 17,840 (/INRY) 118 1,180
FH=H 10,590 88,690 FHE 963 7,470
(-5 » /M) 7,148 71,480 (3 - /N3 531 5,310
(48 DU i) 3,442 17,210 (428 DY i) 432 2,160
Z0fth 912 85,305 Z0fth 25 2,750
(4&h797) 143 715 (#&hTv7) 0 0
(b7 - M=7-) 769 84,590 (F797+N=7-) 25 2,750
RGR |[EER 11,699 423,120 RIGR (LA 1,601 70,650
v e 16 810 v e 0 0
(F5K) 6 450 (R 0 0
(jt’*”) 3 150 (KH) 0 0
i) 7 210 (H-3) 0 0
(/J#*”) 0 0 (/]NRY) 0 0
rovY 6,724 308,780 vy 1,142 67,160
(FFR) 1,384 96,880 (R 649 45,430
(RT) 3,811 190,550 (R7Y) 383 19,150
(-5H) 303 9,090 (H-3) 74 2,220
(/N 1,226 12,260 (VD) 36 360
M= 4,218 37,585 FH=E 447 3,430
(-5 + /M) 3,299 32,990 (7368 - /M) 239 2,390
(822 D0 %) 919 4,595 (% 70 %) 208 1,040
Z0fth 741 75,945 ZF0fth 12 60
(#87v7) 53 265 (#2h797) 12 60
(b797 - b—=7-) 688 75,680 (797 - b—=7-) 0 0
RIGR [(H/# 7,265 278,740 RIFE |EZ 4,969 177,625
v e 11 635 v e 3 135
(FFR) 5 375 (R 1 75
(jt’*”) 4 200 (KA 0 0
i) 2 60 (7 368) 2 60
(/J\’*'J) 0 0 (VL) 0 0
rovy 4,193 251,470 rovy 2,931 157,370
(F5K) 2,877 201,390 (R 1,143 80,010
(KI) 703 35,150 (KIH) 1,417 70,850
(i8) 440 13,200 (1m) 140 4,200
(/INED) 173 1,730 (/M) 231 2,310
M= 2,973 23,465 FEHE 1,989 16,740
(368 - /] ) 1,720 17,200 (388 - /[N 1,359 13,590
(82 D0 %) 1,253 6,265 (% D0 %) 630 3,150
Z0fth 88 3,170 T Dith 46 3,380
(#877) 62 310 (#2h797) 16 80
(b9 b=7-) 26 2,860 (F797+MN—=7-) 30 3,300

- 164 -




